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WSS 2R U (2018-19) - 2
AH3-10 &t
IS MiI-70 fem : fefamis (Science) AHT-3 ufe

-8 (YR 1 3 5 3 AT YHS 1 ¥k T TS)
PART- A (Questions 1-5 contains 1 mark)

1. XT U% ARl 996 HET Qutiar o3 AfeT I, X T IAEEd & »iS B39 fed |
Solution of X is used for whitewash. Write its chemical name and formula.
2. four @ Uget &9 faodt R gt AiEt T 3t 7 nicHIgds &' d°?

Which gas is filled in chips packets so that there is no oxidation?

w
5 . s 5 -3 feu=r=sT
3. 33, feusst, Uet, vay € I8 fan fard €
viar € GeradE 757
What type of organs are depicted above :
(limbs of frog,lizard,bird and human)
4, fI39 &9 WMt niu 2 fam &7 & TaAenr famr \
I w3 fen 3 oo Fow 5% dix diz 77 AgeT I

? X

Which defect of human eye is shown in the
diagram and how is it corrected?

5. ggAe fgzg o faaet Uvr 396 @ W39 € &'H ©F »i3 fen
g a8z wet fan yeqy € 293 it 7t 9 7

As per picture, Name the device which is used to generate
electricity and which material is used to make it?

FaT _n (YES 6 3 15 S A9 YRS 2 Mixk € T5)
PART- B (Questions 6-15 contains 2 marks)

6. fo39 feust grfefsa fafonr d9s faost R
83s Jet 9 ¢ fom an < d% & 79 fa
Fgar?




10.

11.

12,

13.

14.

13,

. AHATST &3t &t Jet 3 7 Bergas € & fenrfimr a9 |

During the chemical reaction shown in picture, Which gas is produced in the test tube and
how it can be tested?

7. st 9t yfafoor 9 of us famdl & 09 & IO gme ety O — T
c—wieg

FII ? AI& TAY 9T AUHS 9 |

Whether solution in the above arrangement will
conduct electricity? Explain with reasons.

What is homologous series ? Explain with example.

. 3073 feurg migAT 38 AAT § U3 IFY RY fa€ Ifemr famr 37

Why do you think noble gases are arranged in separate group?
mred3t Araet 89 IHa@RPY 17) S AR ST T AT IS o J ?

What is the common characteristic of Halogens(Group 17) in periodic table?
375 € ugE &9 &9 &t of HI33T T ?

What is the importance of saliva in the digestion of food ?

He 3o 2 o it & femw fonfes @ & fx@ dltsr et 37

Why treatment of some diabetic patients is done with insulin ?

ySteast fafonr ot Jet 3 fer &9 forrar < &t
gfHar J 7

Define reflex action.What is the role of brain in the
reflex action ?

ySifds & 99 a9 |

Draw the ray diagram for image formation.
o397 e vige fam & fomr <& Has a9er I 7 RIfUs foun <t
yfgsmr <t fe€ |

What according to the diagram does the direction of thumb
points towards? Define the depicted rule.

9T _¥ (YRS 16 3 25 3 AT YRS 3 nid T I5)
PART- C (Questions 16-25 contains 3 marks)



16.

1%

18.

19

20.

21,

22,

23,

fose o faot arfefea fafonr feuret aret 3 2 fem &t
ufggmr fe€ w3 grfefes mHiage & fed

Which reaction is shown in the diagram? Give definition and
write the chemical equation also.

TEREAsIETs 3 ot 3= I ? fer v Quuidr fam Gevar 9 &3 Afer 97
What is hydrogenation? Where it is used in the industry ?
fg39 & BEs aq |

Label the diagram.

=g &g vyt f&ar fsguras &t fenrfimr &3°?

Explain how sex is determined in human ?

far nrerafes f&o filg € for Suz et Quuar d& @& §3® Taus T 93" »i9y fenrm 104t
3 | vag ¥ &R fem Touz 3 50 Wt < gt 83 Afaz I 3t ySifte < Afat yfast w3 nia
fams &9 2

A convex mirror used in some vehicle for watching rear view has radius of 10m. If a bus is at
a distance of 50m from this mirror, find the location, nature and size of image.

niTH HaYT »iy 25 AH 3 33 Tt TAZ § AumEe faf ad" v AIET? Why human eye is not able
to clearly see the objects placed before 25 cm.?

E=aBfSar of IuIE famdt Fae fo G BfFa T 598 et 3t ot Aeudt T934r ¢
What is overloading ? Which precautions will you follow to protect your domestic electric
circuits from overloading ?

&3 92 U39 < ufggrs 9 &R 2 &3 nix IHit fgg 2



24.

23,

26.

21

28.

Write the name of the device. Write its benefits & limitations.
yrfafsa ydu fe feuzat € &t gfiar 3 2
What is the role of decomposers in ecosystem ?

ot 3t nug Fg® &9 o5 ufgedss msmi Aae J fios’ &% fend e3egs Wt garfen A
AaEr J ?

Can you suggest some changes that will make your school ecofriendly ?

gTaT -H (YHG 26 3 28 3 ATI YHS 5 nid ¥ TS)
PART- D (Questions 26-28 contains 5 marks)

&I g a1 Bare 3 guTE wEt IW LA TR ?
Write some measures to protect iron from rusting. #7/0OR

e 3 A%ed U839 & FUYd €3 8 & J9H at3T 18R 3 83Us i § 8A Qug Yel uay &t
Jy & fedlar 3T | IF o of fafonr I=f -

®) ()F fseHA Tug 3 (i) % fserr Qug 3 () Tuget YSifafonr g A3
Irfefex mHtags fou |

Sanjiv has heated sulphur powder in spatula over flame and collected the produced gas in a
test tube placed inverted on it. What will be the effect of collected gas on-
A) (i) dry litmus paper (i) wet litmus paper

B) Write the balanced equation of chemical reaction.
8) gz fafonr forgs 3 fae* 96 T 2
(A) How is fertilization different from pollination?
() Hoeat faf det T 2
(B) Why menstruation happens?
#A/OR
G ERR: PRI R IO
(A) How is binary fission different from multiple fission?

() S Ufemit & BarBz &et arfew ymes & Quuiar fa€ offsr At § 7
(B) Why some plants are reproduced by vegetative propagation?

i3 52 fifzg 9 s YSI9ut Ry, Ry, Rs § HG 5Q,10Q,30Q 76 w3 feal § 12 Vel dedt 7%
Hfgnr famr 3



(®) 99 &= yIieua &8 yerfos famst uor usT &9 |
() AJde &9 yerfos @ famst aar usr a9 |
(€) AJAC € d® YIiay ©f IE&’ a9 |

L
3

It

o H

There are three resistances namely R1, R2 and R3 of value 5Q,10Q and 30Q placed in the
circuit and is connected with 12 V battery as per diagram -
(A) Find the value of current flowing through different resistances.
(B) Find the total value of current flowing through the circuit.
(C) Find the total resistance of the circuit.
#7/0R

G&aon T fauH ot 3?7 Yyt &9 fer €t ynet fag a9ar|

State Ohm'’s Law? How will you verify it in in the laboratory.




H'S® SAC UUT (2018-19) - 2
- AH3-103Y
IS Nix-70 femr : fefamrs (Science) AHT-3 W

g9r-8 (Part-A)
yEs 1 3 5 3q A9 yAs fea nid & 95 |
Questions no 1 to 5 each carry one mark
1. JAfefea mtage Yt a3 1(1)
Complete the chemical equation
Mg + O, —
2. fo39 T fouret fafonr d9% faadt dm Ter Jet T2(1)

Name the gas which is produced in this reaction.

3. nigefEasT 3 &t g2 I2(1)
What does Heredity mean?
4, W3 niy f&g yz& o ot aH T2
What is the function of ‘Pupil’ in human eye?
5. fo39 o feurst fafonr S9s ot Uer &3 faprr? (1)

What is being genereated during the activity shown in diagram?.

26 2us 2fon o a3
Tt Wt A3
g7ar-»1 (Part-B)

YHS 6 3 15 S A YHS € nid T IS |

Questions no 6 to 15 each carry Two mark

6. o339 feg fouret fafonr Sos foid 3B feery dug

T J91 'S geT J Ud3 HA 3B fBeHn T I 5%

During the activity shown in diagram, Why only s

wet blue litmus paper changes its colour to red not  #fas"

dry blue litmus paper in this reaction? 2

7. SUI U TS A3 T IAfEfex & »3 §39 oy |

Write chemical name and chemical formula of washing soda.
1+1
8. TEISITIAGs 3 of 3@ J? fer @ Bevar f&g € Qudlar f&a |




10.

11.

12.

13.

14.

15.

16.

17,

18.

What is hydrogenation? Write its 2 uses in Industry. I+ % + %

. H3%e & niud niegst Agal 39 96 Bet fao3T HUEs niuafent? fer Hues & af

FHT HT?

What was the criteria used by Mendeleev while creating his Periodic Table? Write limitation
of this criteria. 2
‘I3 T g 85t T YIHE 1Tt € niegSt €%6 I 967 | feR 8 T & »igg J7

‘Properties of elements are periodic function of their Atomic number’. What is the meaning

of this statement? 2

37is f&g &9 <t ot HI33T I°?

What is the role of saliva in digestion of food? 2

Ufenr 9 yaw nigeass fam 33t Jer 37

How does phototropism occur in plants? 2
e MdleTes © By 9 IA€ Jer 3 3t A3 AdlT e &t yfsfafenr Jet 97

How does our body respond when adrenaline is secreted into the blood? 2

Wt Tast fET 8°3% wouT § R niewret duz T8 Tous ¥ gu e ufos xR 97

Why we prefer convex mirror as a rear-view mirror in vehicles? 2

fg39 9 feue Adae <o Adg fand a9 e Y=g

‘A’T ‘B’ B I° 3T %X TS gaat guet ©f femr
ot dedit? ferm &t faa3 fauH €t =93° d=aft?

If current flows from ‘A’ to ‘B’ in circuit shown in

figure then what will be the direction of magnetic
lines of force. Which rule is used to find it?

ga1-¥ (Part-C)
YRS 16 3 25 3 AS yrs 56 nig ® 75

Questions no 16 to 25 each carry Three marks

fazg fog fourdt 2re feRy T 3@ Jar v uw faoz Irfefea
o JrgRfEfex fafanr & famy mi3 fer & safefea milags
&g |

Name the blue colored chemical solution in the test tube
shown in the diagram? Name the type of reaction and also
write the chemical equation.

1+1+1

Af3uz »i3 niAf3us aggfsa tfaa 3° &t 3 3?2 g9 & fEa-
fFx Gerags e

What are saturated and unsaturated Compounds of carbon?

Give one example of each. 1+1+ %
+ %
fg'39 &g TaA® ‘€@ w3 ‘N’ HAHT vidlf T &F »i3 a1 & |




Write the name and function of human organs mentioned in fig as ‘A’ and ‘B’
Vot Vo +1+1

19. AHgY viart € Bergdz € & AHSR |
Explain the term Analogous organs with examples.  2+1
20. 3y 539 Yor I9d ¥ IJ YSifae & AfESt » wrfgEt o9 feu

Complete the ray diagram and write the position and nature of image so formed.

0
\/

21. €9 foret €r ot Jgur 37 fern € ot T9z I6? fen © Buu wet faod o ©F <93 &St At
7
What is meant by Hypermetropia? What are reason for this defect? How is it corrected?
1+1+1

22. famet Hea v fAu’z ot 97 fesfas 2fent & ot an
Jer 37
What is the principle of electric motor? What is the
role of split rings? 2+1

el

F

2F

ne

2F

T

(X »2Y)

23.897 T niegn AR 9 & I ¢ 767
What are the qualities of an ideal source of energy?
3
24.3H g% d3ac © foues & AHfmr e a9s <9 & taes U Aae d1 det €6 sdtfant &
IS5 A9 |
How can you help in reducing the problem of waste disposal? Give any three methods.
3
25. 7% Hdt m3 Hawt s v 7Y i fa@ a9 gdter 37
Why should we conserve forest and wildlife?
3

gTar-H (Part-D)
YRS 26 3 28 3 AT YRS UA »ix T T5 |
Questions no 26 to 28 each carry Five marks

26. RASTHIHH 3 Aoed § Jer f&g Ao '3 ot ger 97 fegt et fafonret o
Jer 3¢ yegyg {39 faoz gt Jer 37
Name the product formed on burning Magnesium and Sulphur in air? Write Chemical

equation of both. Which product is acidic in nature?
1+1+1+1+1

OR

8) grrfefea aet @ wiarg '3 T3t 3 w3t I € »izT fau



a) Write two chemical differences between Metals and Non-metals.

) I § Har BIE 3 wUET BET 35 Qumr fied
b) Write 3 ways to prevent Iron from Rusting.

27.fex AF et &9 yacs dhnit faodinii-2 fednit 957 far € © a9 &
What are the various modes of reproduction used by Single celled Organisms? Explain any
two modes?
2+3
OR
8) nifddt A T gad ffu &t A € of &8 57
a) What are the advantages of sexual reproduction over asexual reproduction?
2

nf) fuGaaet A Badnit Re faa3-faua ufsesss feurst fe a2
b) What are the changes seen in Girls at the time of puberty?
3

28.€) fai g & yf3du fxoz-2 agat '3 w3 fan 39t foggg ager 37
a) Name the factor on which resistance of a conductor depends. Also explain how it
depends. 1+2
) YSHS »izg o ufgsmr fad |
b) Define potential difference.
2

OR
fizg g foue yfsdut & 3% Yf39u usT 596 BTt H3T AETUS &S|

Derive expression for equivalent resistance of resistors shown in figure.
5
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HS® AT duT (2018-19) — 3
B ni:70 AHT3-TRIT ANt 35 uf2
MM: 70 Class :10" Time: 3 Hours
femr : fefomi™ (Science)

()
(Part-A)
YRa 1 3 5 S AY YRS fed nia ¥ 75 |

Questions no 1 to 5 each carry one mark

1. 939 feg Tare a2 »iar far famn € wiar § soEe I5 |

Which types of organs are represented in picture?
" g
2. TEZAG+ABIS > TEZTHG IBIES
Sudas gafefex fafonr & A3fez mitags g

Hydrogen +Chlorine ————— Hydrogen Chloride
Write the balanced equation for above written chemical reaction.

3. HEH Wiy S wiggsE Mg It I d 9
What do you mean by power of accommodation of Human Eye?

4. Jot fazr I fo39 & I3 fegw Bt ear@er 32

What is represented by following picture?

5. 939 feu feuret fafonr 9 faodt 3 €3Us It

?




Which type of gas is evolved during activity shown by the diagram?

gTar-m (Part-B)
YRS 6 3 15 S AT YAS T nid T I5 |

Questions no. 6 to 15 each carry Two marks

6. Jof f&3 fI39 & 3% 9|

Label the Given Diagram.

7. 35% At ot Jeuit I57 fegst § viegst AEt ® fam ey few Jftmrm Afer 37
What are noble Gases? In which group they are placed in periodic table?
8. I W= yrg & miryHt fafanr g9 fxa3 83U der 3T 987

What types of products are produced during the reactions between acids and bases?
9. Wt I fieal f&3° pH S HI33™ Enrf At @ Berggs fe€ ¢
Give two examples of Importance of pH in daily life.
10. €186 (C,He) ©F fedags fig AdwsT Tar g |
Write the dot representation of Ethane molecule.
11. Bg f&g dhHesfas & of aH Jer 3?2
What is the function of Haemoglobin in blood?
12,763 12 fifsg e enz § 2F '3 afimr famr 31 S RS9 yor oo yStfifs ot Afdt w3 Ay
U™ A9 |
In the Diagram below the object is placed at 2F. Complete the ray diagram and identify the position
and nature of the image.

4 >
B gl f =
2F F

13. fex 33 x fam & feRagfes 393ty 2,8,1 T 3 gAY 33 Y & fedagies 39w 2,8,7 3 |
33t T o0 TR fegst S wiurt fafonr J= QudS g3 T Gio T IATfeex B39 off J=ar?
An element X have electronic configuration 2,8 ,1 and the second element Y have electronic
configuration 2,8,7. Write the name of the elements and also write the formula of compound
formed after these two react with each other?

14. 7 Wsdtees oy R fomg der 3 3t A3 AT T ot yfsfafonr 3t 39
What reaction occurs in our body when the adrenal Hormone is released in blood?

15. f&39 &9 fagzr Tg3r Tu9 foor 37 dua § I3 T AU €9-33 J96 I aB<aHICT I ot
Yge Jar |




Name the process shown in picture? If magnet is moved relative to coil What will be the effect on
galvanometer.

31— € (PART-C)
yRa 16 3 25 3 A yFs Se nid T 75

Questions no 16 to 25 each carry Three marks
16. Ust & fams wiwes 297 fagdt gt der gew 96 7 6 9tA T & o 7 fmrer
nifess ¥ der gt 31 mwg fa wingr fag der 37

Which gases are evolved during the electrolysis of water? Name the gas which is produced in larger
volume as compared to the other gas. Give reason why that happens?

17. Jst f&3 fI39 § 9% 9|
Label the diagram.

18. Jot &3 39 & AofesT o HdY *9 f&a feguas AR |

Explain sex determination in Human with the help of the diagram given below.



19. TEIZTSIGs 3 off 32 37 fer v Gevar few ot &3 I7?

What is hydrogenation? Give its commercial use.

20.23fHar € ¥¥ I8 © foun &t 37 539 & mofesT 5% AHs8 |
What is Fleming’s Left Hand Rule. Explain with the help of diagram.

21.15 At S Tt T8 €36 3w 3 TAZ § 45 AML g9 Jftmr famr 3, 3t ySifie &aw 3
ftet gat °3 w2am?
An object is placed at a distance of 45 cm from a convex lens of focal length 15 cm. What will be
distance of image from the lens.

22.f&3 a2 39 T fam Afest R Bom &® awg wi@er I »i3 fag?
In the diagram shown , in which case sun will appear red in colour and why?

" Sun nearly

23.f&3r famr 939 o o @er 7 fon 89 A3 3 <u wsor far an & It 37 fer Re g6 3
gmie gt gfonr dfenr fires fam a1 »r@er § 2
What is shown in the diagram ? Which gas is produced in highest quantity in this setup? What is the
use of the mixture that is left behind after completion of process?

Mixing Tank

Fertiliser

Digester

24.3R ¥ fAUz 3 3AT ot AMSE 7 T8 I |
What do you understand by 3R Rule? Explain.

25.645 U9 ot 37 fenet ot A3 et fizr v femr o€ 37 ferm oot § We a9 wet of qeH
g 77 AAE I57
What is ozone layer? Why is its depletion a matter of concern? What steps can be taken to reduce
its depletion?



31-A (PART-D)

YRS 26 3 28 3& AT YHS UA M € I8 |
Questions no. 26 to 28 each carry Five marks
26.A,B,Cn3 D T9 U3 T 543 BT I° 2 By § fFa-2 q9a Io fsw wwt R ufenr famr »3
yu3 fifen § I5 fou nigAg ArasiEy &= famr J:
A,B,C and D are samples of four metals and these samples are placed in below written solutions and
the obtained results are tabulated as written below:

O3(Metal) | FeSO, CuSO, ZnS0O, AgS0O,
A et afefea fafor ot | [SHETUE fafamr
{No Reaction) (Displacement
Reaction)
B ferauz fafanr P T
(Displacement it
Reaction) (No Reaction]
C Set amfefea fafonn st | Se gt ffon st | 3t omfefew fafowr | [SHETUT folfamiT
(No Reaction) (No Reaction) &t (Displacement
(Mo Reaition) Reaction)
D aet grrfefea fafonr adt | St onrfefew fafoor adt | et owefex fafor | St awiefea fafaor adt
(No Reaction) (No Reaction) adt (No Reaction)
(No Reaction)
A9St € 293 9% 9T yrEsT © €39 fek:
8) 73 3 <u fafonmits a3 faast 32

A) Which one is the most reactive metal?
™) T3 B § CuSO,T W® &9 ufenr A< 3t o J=ar?
B) What will happen if metal B is placed in CuSO, solution
€) U3 AB,Cn3 D § fafonmHissT ® mug 3 Wee v ffe fod |
c) Arrange metals A,B,C and D in descending order of their reactivity.
|
IAfefea It € »iug 3 T3t »i3 st &g »izg 9R
Give differences between metals and non-metals on basis of their chemical properties.
27.(8) mif$at Ass T g KT &t s € of &3 I87
(n)HF ¥ AT &9 39T URe fag yus g9er 37
(A) In comparison with asexual reproduction, give advantages of sexual reproduction.

(B) How does fetus get nutrition from mother’s body?
A

(8) ugaE fafenr, fohos 5% fas §6 T 2

(1) B & BI3HA e T wifazs Fi3T f939 g8
(A) How is pollination different from fertilization?
(B) Draw a labeled diagram of a bisexual flower.




28.(8®) Gor © faun &t ufgsar fe€ |
() fE2 a2 39 e u-y ySi9ut § Afanr famr I 1 A9se K9 35 Y30 usm a9 |
(A) Give definition of Ohm'’s law.

(B) In the given diagram, different resistors are connected to each other. Find the equivalent
resistance in the circuit.

(T e e R e

A

(®) famdt 3y 2 fewne T faone 9 Sames & It Quuar fa€ iz AT I 2

() 6 Gon yItdu T fEx fammet dieg famser vy sets 3° 2 We Sa 15A famset aar 3
31 Jtev &9 €3Us 3 & T9 €t a5 a9 |

(A) Why tungsten is used for the manufacturing of the filaments of electric lamps?

(B) An electric heater of resistance 6 Q draws 15A from the service mains for 2 hours. Calculate the
rate at which heat is developed in the heater.




